=MPOMHAY(A1) - Kaxkaoe cNoBO C 3arnaBHOMN OYKBbI

=MPOMWNCH(A1) - Bce 6yKBbI 3ariaBHble

=CTPOYH(A1) - Bce BYKBbI CTPOYHbIE

=CLUEMNTb(A1;B1;C1) - cuenka A4yeek

=[/ICTP(A1) - noacyeT KoNMYecTsa CMMBO/IOB

=CUENUTb(MPONUCH(NEBCUMB(A1));MPABCUMB(AL;(ANCTP(A1)-1))) - 3arnaBHas To/bKO nepsas
bykBa ¢pasbl

=ECTN(ONCTP(A1)<[KO/IMYECTBO 3HAKOB 1];CLEENNTb(AL;"[OKOHYAHUE
1]");ECNNU(ONCTP(A1)<[KONMYECTBO 3HAKOB 2];CLLENMNTb(AL;"[OKOHYAHUE
2]");CUENNTB(AL;"[OKOHYAHMUE 3]"))) - cuenka c y4eTom KONMYECTBa 3HAKOB



